
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the slides (twice).
- Then, leave the notes aside and answer the questions (I do not value answers that are transcriptions of the lecture notes). If you do this, you’ll have to study much less before for the tests.
Reserve 4 hours per week to answer the questions. Hand the answers at the next lecture at ISEG.

Warning: in June you’ll have exams of about 5 different courses in just two weeks. Therefore, if you do not study properly while answering the weekly questions, your chances of passing this course will be much lower.

Please write WEEK 7 in bold at the beginning of your answers.

Week 7
L13: The TCM + Prices in a market with a DF plus a CF
1.In which cases is entry risky or riskless? Explain.

2. If there are no EBs whatsoever – including no risk of entry – will a market with a couple a ECs facing the threat of new ones exist for long?
3. Under which circumstances won’t an established monopoly or oligopoly set the price above PNP according to the TCM? Explain.

4. Do you agree with that argument? Explain.

5. Does the historical example presented in the lecture points to the validity or the invalidity of the TCM? Explain.
6. Which type of market is likely to exist in the case of air flights between Paris and London? Explain.
7. Which type of market is likely to exist in the case of air flights between Valência and Bilbao (two medium-sized Spanish cities)? Explain.

…

8.Consider the graph presented in the lecture to explain the price set by a a monopolist and DF.

a) If the price is set at 12€, the monopolist will sell 90 units. How do I know this?

b) If the monopolist raises the price from 11€ to 12€, what will be:

       i)  his upside (“G”)? Explain and illustrate in a graph.
      ii) his downside (“L”)? Explain and illustrate in the same graph.

     iii) the change in profits? Will the monopolist move back to the price of 11€? Explain.

9.Consider once again the graph presented in the lecture to explain the price set by a monopolist and a DF.

a) If the price is set at 9€, the DF will sell 120 units. How do I know this?

b) If the DF lowers the price from 10€ to 9€, what will be:

       i)  its upside (“G”)? Explain and illustrate in a graph.

      ii) its downside (“L”)? Explain and illustrate in the same graph.

     iii) the change in profits? Will the DF move back to the price of 10€? Explain.

10.Consider once again the graph presented in the lecture to explain the price set by a monopolist and a DF. The DF is setting the price at 10€, if the CF shrinks from 20 units to 5 units will the DF raise its price to 11€? Explain.

11. In one sentence, ceteris paribus why does a DF set a price lower than a monopolist? Explain.

L14: Bad regulation
12. a) What is regulation?

b) What is bad regulation?

c) What is good regulation?

13. How are the price of taxi rides determined? By whom?

14. Why does a limit on the number of licenses lead to an unfair price?

15. Why does a limit on the number of licenses lead to an unfair price?
16. Why don’t city councils issue enough licenses every year?

17. Suppose the deposit interest rate = 10% and the risk premium is 10% too.

a) What is the risk premium?

b) What is the price of license that is expected to provide excess profits of 1200€ in year 1? Explain.

c) Consider a license that is expected to provide excess profits of 1440€ in year 2. Could its price be 1100€? Explain.
d) Consider a license that is expected to provide excess profits of 1200€ in year 1 and 1440€ in year 2. Could its price be 2250€? Explain.
18. What is in general the price of a license? 
19. Because of licenses, taxi drivers charge prices above the level that would lead to NP. Do they all earn excess profits? Explain.
20. What’s the problem with the time and effort spent by taxi drivers in their recurrent protests against UBER?

21. If they succeed what are the other two problems? Explain.

22. Why do drug traffickers regularly shoot each other but taxi drivers do not shoot each other?
23. The average hourly wage of a drug trafficker is 33% above the minimum wage. But this does not imply excess profits. Do you agree? Explain.

24. What happens if the members of a drug traffic gang of a certain neighborhood are earning on average $30 an hour? Explain.

25. Explain why the asymmetry between the number of consumers and the number of firms interacting in a given market may lead to bad regulation.

26. Explain why professionals of regulatory agencies may let firms mis-behave?
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